b Profeiinl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 06th Mar 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / CAL TR ("HE>Irdr) &1 3 g

1. It describes a disorder or condition that may co-occur with another disorder or condition. / IJ& Th TdhR

a7 feufa &1 aufe oaar & S R 3T R a7 feufa & a1y & godr

2. A condition can appear independently and have a detrimental effect on performance. / a5 ufa Tads
¥ § gehe & Tl & AR Uged W EMAdRS YA ST Tohel! &

3. A cognitive impairment can shorten lifespan. / T=TATcHD &lfel Sidedhlel Bl BICT A Thdl &l
4. None of these. / é?m q Ehﬁé ?—Iﬁl

Correct Answer :-

« It describes a disorder or condition that may co-occur with another disorder or condition. / I& Tdh TIBR

g7 AT 1 guiad a1 & o fRet 3T R ar Rufa & a1 & gaar &l

2) What is the second leading cause of death in adolescence? / fHIIRTARIT & GG BT GERT WA HRUT
1 3?

1. Road traffic accidents / "Hsh IATATATA zgéz?mfr
2. Suicide / HTcHAGT
3. Psychosis / HANARA

4. Drug overdose / 39T 3Tl

Correct Answer :-
e Suicide / JATcHEIT

./ RRa s faaEu___ I
1. Universal Developed Learning /qﬁaﬁa Saats AT

2. Universal Dynamic Learning / Jfaia¥el SIIATIHG afetal
3. Universal Design for Learning / qﬁmﬁa Bosa BR AT

3) UDL stands for




4. Universal Disadvantages of Learning / Jfaia¥dtel fs¥usaicst 3ifh afetor

Correct Answer :-

» Universal Design for Leaming/m Bols BR AT

4) The meaning of gestaltis __
1. Excitement / 3cdl&

2. An integrated whole / 'H'C[Usf ThIhIuT
3. Perception / RO

4. Insight / 37dET®

Correct Answer :-

o Insight / 3TsT®

5) According to Piaget’s theory of cognitive development, complex thoughts form during the

/ forars & dgrTere fRAerare Rigia & oguR, sfed faar & IR 31 B
1. Pre-operational stage /qﬁ-m HIEAT

2. Concrete Operational stage/%‘f(—il’&)mcd-lm STIEYT

3. Formal Operations stage / 3iTaaTRe Gfepar 3raear

4. Sensory Motor stage / el HeY TIOT

Correct Answer :-

« Formal Operations stage / 3iTa=nRes GferaT 3rae2m

6) According to Kohlberg’s theory, at what level does the child adopt rules? / FEdadT & ﬁz}n?r F
AR, ST BFE T W Al F w&erar g2

1. Universal ethical principle orientation / aaside Afde e 3733@|EBIUI
2. Post-conventional level / T4-URFIRS T
3. Pre-conventional level / q@-URFURE FR

4, Conventional level / URFIRE FaAX

Correct Answer :-

« Conventional level / TRFIRE FaAX



7) According to Urie Bronfenbrenner system is the small immediate environment the child

lives in. / T FIBeTaeIX & AR, YOITel a8 BIET 3HTHew ATarawor ¢ forws aear & ¢l
1. Macrosystem / HepITATCH
2. Exosystem / T f&EeH

3. Microsystem / FTShITHTCH
4. Mesosystem / @ faeea

Correct Answer :-

« Microsystem / FTSehI T

8) What is used to determine eating disorders? / @l & Rt # AuRT & & AT Far g3
T srar 872

1. Weight index / HR P

2. Weight mass index / #AR gcIHATA (iﬂchich

3. Body mass index / NN GeIATA bk
4. Body height index / SRR 5dTs HIhich

Correct Answer :-

» Body mass index / R AT {-‘Lthviqw

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt?
/| 9% 9g S TH 9T N TH 49T dadHT @ H AT qTel FEAE T T9@ 35T JoiT el ¢,
St sEe ged @ € W gam ¥

1. Proactive interference / Gfehd %'{-_cfaqtr
2. Retroactive interference / q:ﬁoqml W&%’q
3. Cue-related interference / Hbd-Taiad TEdaq

4. Semantic interference / AT FEINT

Correct Answer :-

e Proactive interference / TfhT Wiﬁq

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / Rarst
q gl B IAF FreUiAh- AIAAICHS do H FASS F AT F=1 S5 7



1. Pendulum experiment / ﬂw Galiepie)]
2. Bobo doll experiment / @lell IFSAT T FATIT
3. Visual cliff experiment / TF Il YIIT

4. Shadow experiment / SIIT YT

Correct Answer :-

» Pendulum experiment / ﬂ§TvI'H T T

11) What does the theory of learning by Insight mean? / 3d¢fSe (3aUBE) & ATCIH ¥ AT &
faguia &1 34 4 §7

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 31faTa

& o faR, a6 3R gigaar S 3=a wide Aafde afhansi & sragsar adr B

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / UATH 3iR gf?f ERT 3TATH FIT STel THET A Affea vy gR1 aR-
IR & IRAT Th TAAWAT &, Sfh Theldl dd SIRT Bl &l

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /
HRTH S T AT gRT T 90 Tl A @A HR 395 FIR PIAA BN Abel Bl & Bl
2

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / T YR & HIAITH IT FHTAT Pl &
A S fopt gaHEm & RAffea fReal & godt a gase 3k 39 Rufa & gasa & aJgsd
¥ FaAH Bl g

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / Teh YR & IFTAIH IT GHTAT P &
AT St fre @erear & faffea el & gayt & @eree AR sa Rufa o aeee & acgs
¥ HaE B B

12) Name the disorder that causes lack of attention. / 30 Q&R FT ATH qdT¢ 3T €A HT FHT &7
HROT eIl &2

1. Dyslexia / aipfaeR (fSreifadaar)
2. Dyscalculia / [SEhegpforr

3. Dysgraphia / fS@anftear

4. ADD/ADHD / TSIET /USIu=ist

Correct Answer :-



« ADD/ADHD / USIET /USIuIs!

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused
by the interaction of the behavioral, cognitive and environmental factors / eac El?'gTI' QanT gEaifad
i A1 AlET TIER, FAWICHS HR AN FREA F RER F7A1 F MUK | AT 9 317
cafFded Y AT FIaT §?

1. Self-efficacy / HTcH-THTIBIRAT
2. Reciprocal determinism / UREUIR® f@afdarg
3. Trait theory / <Tfthed [AgTd

4. Sublimation / 3%dUld<s

Correct Answer :-

« Reciprocal determinism / IR¥URS® Aafdarg

14) Which of the following promotes the recurrence of a behavior? / FFafaf@a A FTarr
SqAER AT TAGRT F Fgrar AT g2

1. Reinforcement / ga‘aiﬂ?r
2. Latency / ggdr

3. Chunking / Tfchal

4, Punishment / &3

Correct Answer :-

e Reinforcement / gﬂéﬂ?-[

15) Which of the following theories focuses on processes involved in perceiving and handling
information? / fAFafaf@a & & Fla a1 RAguia gaar ' Ferea A’ IAX e gIoT FA A
anfier ufhanat W HRa ¥

1. Information-processing approach / W-U’W’WUT SUTITH

2. Social-contextual approach / HTATTSTh-UTHIH SUTITH

3. Socio-cognitive approach / HTHATTTdh TATATCHSD SUTITH

4. Psycho-sexual approach / AATATND SUTITH

Correct Answer :-

 Information-processing approach / H@FIT-‘;I’@F&WUT SUTITH



16) Which of the following is one of the components of ideal mental health according to Jahoda? /

Prfafdd & ¥ #l7 SR ¥ 3R e AWRE TR & oA & ¥ T
1. Dependence / feaT

2. Separation from society / TS & 3ol &IAT

3. Freedom / T

4, Positive attitude towards oneself / TIT & UTd TPRIcHD ¢TRDIOT

Correct Answer :-

« Positive attitude towards oneself / TIT & UTd TPRIcHD TIRDITI

17) Which of the following statements best describes the Zone of Proximal Development? / fa&=ifaf@da
# A FF T FuT THIET RET F 8T FT FAO@ ITOT I FAT 2

1. The difference between what a learner can do without help and what she or he can achieve with guidance. /

uo Rremdifemr gerar & w1 HR hay/Ied! § 3R ANTeRiF & I1Y-Iry 98 o1 gIRIA R Ihdl /bt
2, 3P dIg &I 3R

2. Academic, Knowledge based tests gauge the intelligence. / 37hIG [d1eh, ST TR &0 & Tg@ﬂ?ﬂ
&1 gl Feldl B

3. The child develops the required skills on his/her own. / IdT 30 g WX 3TATD pierer TAhTAd
T &

4. Discover everything on own. / §d S T & @il o]

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance.
/ T RigmiffaT Tgrd & 1 SR AHa/AHd ¢ AR ANIGRH & IA1Y-T1Y a8 T gIId B qdhdl/qdhdl
2, % o9 BT SR

18) Which of the Thorndike’s laws emphasize preparedness? / qASS® HT HiA-AT FIa dafat «w
SR & 72

1. Law of Exercise / 37918 &l @Ia
2. Law of Effect / UHTG &l fAI#H
3. Law of Multiple Response / dg gfaferar &1 g

4. Law of Readiness / dcqRdl &l I

Correct Answer :-



« Law of Readiness / dculdr &l aI#d

19) In scientific investigative learning method, ./ A W rfearT ‘I{ﬂﬁl’ #,

1. children discover the scientific idea completely. / & @ aqM® fdaR U @ ¥ UdT Iad g
2. children work without guidance. / I EFIIZ'IG‘\’i?-T & T FrH A %I
3. teacher guides the children completely. / f1&Te aat T T ARG AT §

4. teacher gives inputs when needed. / 87 TTRIT Usad W EQl &ar &l

Correct Answer :-
« teacher gives inputs when needed. / f1&Teh SRRT Ul WX EQl &ar &l

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / T& dTo
I 30F RNaTHl @RI €O F @ AT § FIF IqF QA Y WA FT FRT JAT AT §,
o @ = F FI Fo Ad A A @ AfAf@a & @ Sl w1 swer aviarens 82

1. Algorithm / TealRYA

2. Transductive reasoning / UITHT G

3. Representativeness heuristic / 373ITdeeT %’gﬁm (Rﬂ‘g’ﬂﬁiﬁr )
4. Anchoring heuristic / GHdIA %Tgﬁ'ﬁ-?ﬂ? (Rﬂ“@’ﬂﬁ?ﬁf )

Correct Answer :-

« Representativeness heuristic / 373-ITdee %:23 Rf&ch (W@’Qﬁaﬁﬁ )
21) Who are backward children? / Q&3 aRa s #wlad?

1. Slow learners / ¢ 31TAITHBAT

2. Delinquent learners / fareeToT 31fQaraTeRar

3. Handicapped learners / f&emaT 31fTHTRAT

4. Exceptional learners / 3TATUROT 3T fAITAHAT

Correct Answer :-

e Slow learners / Fe AT HPAT



22) The last stage of creative thinking is : / TaellcA® RaeT &1 3ifadw =T &:
1. Incubation / SCHTIA
2. Verification / HcAUe

3. Preparation / SEIE

4. Evaluation / EELFZI'IEI'F[

Correct Answer :-

e Verification / HcdTded

23) The Dalton Plan was created by: / 3Teeel YTl &ant 1S TS oY:
1. John Dewey / STl &%

2. Francis Galton / BIf&H e

3. Francis Dalton / SIf8&d 3Teed

4, Helen Parkhurst / %?—TH q'l?fb?»@
Correct Answer :-

o Helen Parkhurst / &oleT UThgEc

24) A student should be allowed to learn in the mother tongue as it makes easy./ T& B HI
AT F W@a # aegAfa & S TR F=iF 77 S HTEIT 1T 2

1. Comprehension / &Y
2. Perception / HdcsT
3. Creation / {T=T AT ¥

4. Reproduction / Yol

Correct Answer :-
« Comprehension / &Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / 3% FATFAY 3T FATTy e F aF
FAETAS faF W Rcuial & geg Rewia g

1. Kolb’s / led
2. Piaget’s / TOmat



3. Dewey’s / 34
4. Vygotsky’s / aTSINcEhr

Correct Answer :-

* Vygotsky’s / dTSINcED]

26) A large number of schools do not have a provision for teacher in the school. / rfereprer H‘:_('ﬂ'
# YT T yTaeTe et &

1. Extra / JTaR=

2. Special / Tafre

3. Co-class / w—fﬂaﬂ

4. Assistant / Ggld$h

Correct Answer :-

« Special / Tafrs

27) are the basic needs according to Malow’s Hierarchy of needs. /

A & RO & UGTIPH B AP & AR Fard oevd g
1. Safety and Esteem / gR&T 3R AT

2. Physiological and self-actualization / 2mMIR& 3R 3cq-a1er

3. Belongingness and love needs / T4 3R IR fr 3maeged

4. Physiological and safety needs / IR 3R gRé&l DI IR

Correct Answer :-

» Physiological and safety needs / RIS 3R gRé&m DI I

28) Which of the following can a teacher not exercise to overcome misconceptions? / T&

1&g/ Toa YRS B R FA & o 37 A fvaeT FagR 18 &% q@an?
1. Immediate feedback assessment approach / dceplel UTafohar W gf¥eproT
2. Self-directed learning / 3T fAEE & Hr@am

3. Quiz style assessment both before and after a unit/ Teh éiﬁl'é' T ugel 3R g F wAad delt @
Hediehe
4. Flipped classroom approach / TFeTd &heTT TRhI0T



Correct Answer :-
« Seclf-directed learning / 3Tcd A& & dr@ar

29) Which of the following theories is also known as modelling learning theory? / Frafafaa #
¥ fra Rigia &) ufeevur(atsii) st Rigia & Fu § oft s sian 82

1. Developmental theory / ICCARIcEED (@Tﬁlﬂﬁ?ﬂ) STy Rygid
2. Social learning theory / HTHATTSI 3TTQTH Agid

3. Transformative learning theory / avquqﬁa 37T g
4. Insight learning theory / 3ide® (3aamse) A9 RAga

Correct Answer :-

« Social learning theory / T 31191 Rgrd

30) Thinking most importantly involves: / ﬁlﬁ?ﬁmﬂgﬁ'@f?ﬁ?ﬁwmmé ?
1. Aptitude / 3TTRINTIAT
2. Memory / EHfd

3. Reasoning / as

4. Attitude / 3TTHRT

Correct Answer :-

« Reasoning/ d&

Topic:- General English(L1GE)

1) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.



Ram Chandra of Narayanpur witnessed a very unusual sight near which place?
1. Home

2. Fields

3. Constellation

4, Horizon

Correct Answer :-

e Horizon

2) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.

What did Ram Chandra think while lying on his bed?
1. Whether he had dreamt about the whole affair

2. Whether he saw the ship or not

3. Whether he should tell his wife about it or not

4. Whether he should tell others about it or not

Correct Answer :-

e Whether he had dreamt about the whole affair

3) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation



of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.

The meaning of the word Horizon is:
1. Towards home

2. Towards Fields

3. Where the Sky meets the earth

4. Where the Sun meets the earth

Correct Answer :-

o Where the Sky meets the earth

4) Read the passage carefully and answer the question that follows:

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.

What did Ram Chandra see when he went near the bright lights?
1. Fields

2. A constellation

3. Ship

4, Horizon

Correct Answer :-



5) Choose the sentence that best combines the given sentences.

Elizabeth is an athletic woman. Elizabeth cannot swim or ride a bike.
1. Although Elizabeth is an athletic woman, she cannot swim or ride a bike.
2. Elizabeth cannot swim or ride a bike, while she is an athletic woman.

3. Elizabeth cannot swim or ride a bike and is an athletic woman.

4. Being an athletic woman, Elizabeth cannot swim or ride a bike.

Correct Answer :-
» Although Elizabeth is an athletic woman, she cannot swim or ride a bike.

6) Choose appropriate articles for the given sentence:

_ boykicked _ balloutof ___ football field.
1. No article required, a, a

2. A, the, an

3. A, the, no article required

4. The, the, the

Correct Answer :-
e The, the, the

7) Choose the appropriate option that rewrites the given sentence in its active voice.
At 2pm the final bell to end the examination was rung.

1. To end the examination the final bell was ringing at 2pm.

2. At 2 pm, the examination bell was rang to end it.

3. The examination final bell had been rung at 2pm.

4. The final bell to end the examination rang at 2pm.

Correct Answer :-

e The final bell to end the examination rang at 2pm.



Choose the appropriate option to convert the given sentence from direct speech to indirect speech.

The Principal said, “These books have to be piled up in an order in the library.”
1. The Principal instructed that those books had to be piled up in order in the library.
2. The Principal said the books have to be piled up in an order in the library.

3. The Principal said that these books have to be piled up in an order in the library.

4. The Principal told the books have to be piled up in an order in the library.

Correct Answer :-

e The Principal instructed that those books had to be piled up in order in the library.

9) Choose the appropriate tenses to fill in the blanks in the given sentence :

you that Amith to join in the famous University in the United States?

1. Were, knowing, had going
2. Are, know, was going

3. Did, know, is going

4. Had, known, had gone
Correct Answer :-

* Did, know, is going

10) Choose the appropriate tense to fill in the blank in the given sentence:

I the movie Lagaan when he called last night.

1. will be watching
2. was watching
3. watch

4, am watching

Correct Answer :-

« was watching



11) Choose the appropriate antonym for the highlighted word in the given sentence.

The little boy used to eat continuously and had become so corpulent that new clothes had to be
purchased for him every month.

1. Stout
2. Miniscule
3. Rotund

4. Scrawny

Correct Answer :-
e Scrawny

12) Choose the appropriate conjunction for the given sentence.

We were planning to go to Italy , we ended up going to Switzerland.
1. instead

2. because

3. otherwise

4, since

Correct Answer :-

e instead

13) Choose the appropriate synonym for the highlighted word in the given sentence.
Prof. Kumar has a distinct English accent.

1. Indiscreet

2. Vague

3. Subtle

4. Noticeable

Correct Answer :-

* Noticeable



14) Choose the appropriate prepositions for the given sentence:

The little girlran __ the busy road, to prevent a puppy ___ being crushed ____ a car.
1. from, into, for

2. across, for, into

3. across, from, under

4. through, for, into

Correct Answer :-
e across, from, under

15) Choose an appropriate modal for the given sentence:

If you experience any breathing problem, you visit a doctor.
1. would

2. must

3. will

4. can

Correct Answer :-

16) Choose an appropriate determiner for the given sentence.

knowledge is a dangerous thing.
1. Alittle
2. Few
3. Much

4. Many

Correct Answer :-

o Alittle



17) Choose the option that best explains the highlighted expression:

The servants were hand in glove with the murderers when the crime took place.
1. to use a glove in

2. to act in accordance with

3. to be involved in

4. to be controlled by

Correct Answer :-
e to beinvolved in

18) Choose the most suitable pronouns for the given sentence:

____cheeksarered,and _____ sweating. Are __ nervous?
1. Their ... you ... they

2. My ...I'm ... you

3. Hers ... she’s ... they

4. Your ... you're ... you

Correct Answer :-
* Your..you're...you

19) Read the sentence carefully and choose the option that has an error in it:

Although she was sick, but she attended the classes.
1. Although she was sick,

2. but she attended

3. No error

4, the classes.

Correct Answer :-

e but she attended



20) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

According to the passage, where was unemployment a major problem during the Great Depression?
1. Developing countries

2. Underdeveloped countries

3. Highly developed countries

4. Over populated countries

Correct Answer :-
» Highly developed countries

21) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. ""Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

Which are the prime concerns faced by Indian economy?
1. Inequality and discrimination

2. Inflation and unemployment

3. Corruption and demonetisation

4. Unemployment and poverty

Correct Answer :-

» Unemployment and poverty



22) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

What does the usage ‘two sides of the same coin’ imply?
1. The problems are deceptive

2. The problems are insignificant

3. The problems are allied

4. The problems are distinct

Correct Answer :-
o The problems are allied

23) Read the passage carefully and answer the question that follows:

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. ""Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy”. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

According to the passage, which of the following options is true?

1. Solving problems of unemployment will solve the problems of poverty and inequality
2. Solving the problems of unemployment, poverty, and inequality is an impossible task
3. The problems of unemployment, poverty, and inequality are irreconcilable issues

4. The problems of unemployment, poverty, and inequality are disparate ones

Correct Answer :-

» Solving problems of unemployment will solve the problems of poverty and inequality



24) Choose the right tag:

After all this time you'd think he’d had forgotten, ?

1. don’t you
2. wouldn’t you
3. do you

4. would you

Correct Answer :-

« wouldn’t you

25) Choose the correct option to fill in the blank in the given sentence:

While travelling on an airplane, you may keep you hand baggage in the --head cabin.
1. over--

2. up--

3. sub--

4, under--

Correct Answer :-

26) Fill in the blank with the correct option in the given sentence:
He tried very hard to win the race but things got beyond his endur

1. ---sion

2. ---ation

3. -—-ence

4, ---ance

Correct Answer :-

27) Fillin the blank with the correct option in the given sentence:



My little sister____ the ticket before we went to the cinema.
1. has been given

2. is given

3. will be given

4. had been given

Correct Answer :-

« had been given

28) Choose the option that substitutes the given phrase appropriately.

The place where farmers store their surplus grain
1. Granary

2. Room

3. Barn

4, Enclosure

Correct Answer :-

29) Choose the right tag:

There is a crowd at the gate, ?
l.is it

2. isn't there

3. is there

4, does it

Correct Answer :-
e isn't there

30) Choose an appropriate article for the given sentence:



Nile is longest river of all.

1. an
2. no article
3.a

4, the

Correct Answer :-

o the
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FT o T 44T, FT o olleg oW AT ?

S g 9¢ FEN §F¢ Hay g3 9 |l

39T UCHRT F YGHT A T AT YT FT I TS
WeA- G gegier f uiFa ‘R e, 3 el dieer F v ww Ry 1 o 4w 82
1.dg

2. A
3.%6F
4. 9%

Correct Answer :-

23) # ofy sy dfdaes g | Fe1 B e fhg s T wEm
dleg (ae S W IWEN | & §9 ALY & ge AR |

a Rast, 7 Ton Fieer |y Rwe, g wwfafa e )
TE G A3 97 A@raT | R 7% S H e qmar 21
ARTAN Ig gfAar-eer | afer W5 @ oy R qur )

[T g WS VA | AT IAT3ET Forawy |

YA-FUT Ty Hifa fERg | e 9g St @ aRg 0

3 o ST 49T, $3 7 dleg IF AT ?

S IE 9S FeTl §F¢ Wat gz Al |

39T TSI F YGHT AT T AT YT FT I TS
WA- G gearer # R geftr A v 87

1. e gl

2. FATITHA

3. UGfeT

4. T

Correct Answer :-



# iy 3Ry dftaee T3 | Fe1 & wre g AR T gEm
dleE S[ae S W IWET | & §9 AT & ge A |

a1 Ra, 7 o Heel | Ry Ruw, g wefdfa e
& FAHT AT 97 A@rar | B % S9rq FY AR 9w 20
AR I§ gfaar-aer | afar @19 & ofy R qur

T g WS VAW | AT IHAT3ET Ferary |

YA-FuT vfy iy farg | 9fFr Ag St g aRg 0

FT o T 44T, FT o olleg oW AT ?

S g 9¢ FEN §F¢ Hay g3 9 |l

39T UCHRT F YGHT A T AT YT FT I TS
Y- H F HTAR aof F FW fraar gar §2

1. s

2. 91d

3.t

4. dicg

Correct Answer :-

25) # ofy sy dfdaes 9@ | Fer B e fhg s T wEm
dleg [ae S W IWEN | & §9 ALY & ge AR |

a RasT, A7 Ton Hieer |y Rwe, 9 wwfafa e )
T GIT A3 97 A@raT | R 7% S H e qmar 21
ARTAN I8 gfAar-aer | g g @ ofy R qur )

[ET g WS A | AT IHAT3ET Foraw] |

YA-FUT Uiy Hifa faERg | e 9g St @t aRg 0

3 o ST 99T, $3 7 dleg IF AT ?

S IE 9E FETl §F¢ Wat gg Al |

39T TSI F YGHT AT T AT YT FT I TS
WeA- HA F HTAR 3qF ol AT Fa qdF ghar?

1. Pt & gRT I% HUT e WX

2. fpE & gRT TT HAT Hg S W

3. fRET & gRT 3HHT GEdeh TG I W

4. fpel & gRT 3HPI ATH old W

Correct Answer :-

. Tl & gRT IE FAT Uga W



# ofy 3Ry dftaee T3 | Fe1 & wre g AR T gEm
dleE S[ae S W IWET | & §9 ALY & ge A |

a1 Ra, 7 o Heel | Ry Ruw, g wefdfa e
T FAHT AT 97 A@rar | B % S9rq FY AR 9w 20
AR I§ gfaar-aer | afar @9 & ofy R qur

T g WS VAW | AT IATET Ferdry |

YA-FuT vfy iy farg | i Ag St 9@ aRg 0

FT o T 94T, FT o olleg oW AT ?

S g 9¢ FEN §F¢ Hay g3 9 |l

39T UChNRT Y YGHT A T AT YT FT I TS
wed- Ffa F v fer 1% 71 soa e w0 7 9

L ST
2. 30T
3. BT
4. T

Correct Answer :-

27) ¥ oft 3Ry dfdaes g5 | Fe1 B gww g kT g@m
dleg [ae S W IWEN | & §9 ALY & ge AR |

a RasT, A7 Ton Hieer |y Rwe, 9 wwfafa e )
T GIT A3 97 A@raT | R 7% S H e qmar 21
ARTAN I8 gfAar-aer | g g @ ofy R qur )

[ET g WS A | AT IHAT3ET Foraw] |

YA-FUT Uiy Hifa faERg | e 9g St @t aRg 0

3 o ST 99T, $3 7 dleg IF AT ?

S IE 9E FETl §F¢ Wat gg Al |

39T TSI F YGHT AT T AT YT FT I TS

WA- F F AR 387 71 H 70 F Fi @lig AR T 7F@r 2
LIS e

2. ATITSHAT

3. ¥

4. Il

Correct Answer :-

. PIS TG



# ofy 3Ry dftaee T3 | Fe1 & wre g AR T gEm
dleE S[ae S W IWET | & §9 ALY & ge A |

a1 Ra, 7 o Heel | Ry Ruw, g wefdfa e
T FAHT AT 97 A@rar | B % S9rq FY AR 9w 20
AR I§ gfaar-aer | afar @9 & ofy R qur

T g WS VAW | AT IATET Ferdry |

YA-FuT vfy iy farg | i Ag St 9@ aRg 0

FT o T 94T, FT o olleg oW AT ?

S g 9¢ FEN §F¢ Hay g3 9 |l

39T UChNRT Y YGHT A T AT YT FT I TS
Y- 9 FAT F FA 7 Fo A 39RURY Fat A
1.9g #
2. §OR H
3.9¢ A

4. SEIUs H

Correct Answer :-

29) # vfy sy dfdaes 9@ | Fe1 B e fhg s T wEm
dleg [ae S W IWEN | & §9 ALY & ge AR |

a RasT, A7 Ton Hieer |y Rwe, 9 wwfafa e )
T GIT A3 97 A@raT | R 7% S H e qmar 21
ARTAN I8 gfAar-aer | g g @ ofy R qur )

[ET g WS A | AT IHAT3ET Foraw] |

YA-FUT Uiy Hifa faERg | e 9g St @t aRg 0

3 o ST 99T, $3 7 dleg IF AT ?

S IE 9E FETl §F¢ Wat gg Al |

39T TSI F YGHT AT T AT YT FT I TS

weel- YEqd 9fFaal F qER ot F Fia Y @le gwar ¢ AR Fia R 3w wwar 22
1. P15 opa of A9

2. AJST-FAJSY I

3. AT aE3HT B

4. IEJ HJST &l

Correct Answer :-

- Prs RE ol



# ofy 3y dfdaee 93 | FeT B g g R A wEm
dleg #ae S @ IWE | T qG ALY F uC AR

aq Ras, #° v Feer | T Qe g wfxfa e
T FAHT AT 97 A@rar | B % S9rq FY AR 9w 20
AR I§ gfaar-aer | afar @9 & ofy R qur

T g WS VAW | AT IATET Ferdry |

YA-FuT vfy iy farg | i Ag St 9@ aRg 0

g o AT 4T, HF A dleg IH A ?

S g 9¢ FEN §F¢ Hay g3 9 |l

39T UChNRT Y YGHT A T AT YT FT I TS
WA- FF F AR 397 FH 390 74 - FHSAAT?
1. fagrat &r

2. Hodl &l

3. OISl &r

4, gfosdi &l

Correct Answer :-

« TOSAr &l

Topic:- Social Science (SSC)

1) What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 H HRd #1
TSI (wad e agd) Yo 1 38 32

1. 130

2. 124

3.112

4, 148

Correct Answer :-
e 112

2) Which of the following country is in the third stage of Demographic transition model? / fAufeaa
T A DI A1 A ARSI HHHUT Aisd F TN T A 32

1. Kenya / &edr
2. Bangladesh / siaenger

3. Peru / U%



4, Canada / ohd1ar

Correct Answer :-

e Canada / &eT3T

3) Which among the following is the driest desert on Earth? / fafafeada s qzaﬁ R g9 R[h
I 32

1. Kalahari/aﬁlalglil
2. Tabernas Desert / deag IAEaa
3. Atacama / 3TCThTHT

4. Gobi / &Y

Correct Answer :-

o Atacama / 3TCThIHAT

Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena I
4. Chamak Copper plate D). Eumargupta I

| et & A fHemerE &1 AT o

1. AGER TdH [de | A, =8 a°d

2. #gtelr Tay faeE | B. e 0

3. T@ad T [¥eeE | C. 9a dar I

4. IAHEF HIR O D. FARAA TUH

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-A, 3-B, 4-C
3.1-D, 2-B, 3-A, 4-C
4.1-D, 2-C, 3-B, 4-A

Correct Answer :-



« 1-D, 2-A, 3-B, 4-C

5) FIIs stands for . | THIATS3ITS BT T’f FTU__ 7l

1. Foreign Institutional Investors / B E2Ta ¢lleTel g ey

2. Foreign Income Investments / iR SAhd SedicHC
3. Foreign Investors Income / BReT $ed¥cy Sichal
4. Foreign Investment Index / R S-d¥cdc Sodd

Correct Answer :-

o Foreign Institutional Investors / BT 3?—‘@{??—[3[ 36-3 el

6) The most appropriate criterion that determines the selection of a teaching method is: / LR

SUYF AFES Wl U e usfa & 99+ 3t fuifva s g:

1. The nature of the subject matter / TII-a&g &I Upfa
2. The classroom environment / &1 I dTATIIOT

3. The availability of resources / TETIAT T ST

4. The incompetence of the teacher / fRI&® BT 3&Hd

Correct Answer :-

« The nature of the subject matter / ﬁw-m—a’ hr ‘;I?f%

7) The vesara style in the building of structural temples was developed by: / SXaaTcA®
AR & fwior & aww AN e gawr Rwfaa #r g o

1. Pallavas / Ueeld
2. Chalukyas / dTe]d

3. Guptas / T«

4. Mauryas / e

Correct Answer :-

« Chalukyas / dTelerT



Development is a and nonstop process at all periods and stages of human life.

| e AT sad & @3t a7 3k ot F 3R AT ufFar g

1. uniform / ThIHATA

2. important / E:I%'(-_d'f[ﬁ

3. general / HTHATY

4. continuous / Hdd

Correct Answer :-
« continuous / Hdd

9) Students are split into small groups for a specific period of time and are made to discuss a
given issue or topic. This method is known as: / SEl HT S fafarse ga e & AT o
Fopgl # fasnfora fram amar € 3 R 7 72 a1 vy w REr-Rwed :wmr a2
I eyt FgaTdl gl

1. Brainstorming / W (SieTeeifdiaT)
2. Buzz session / ?’:J,GIFT T (I7 A)
3. Symposium / giar

4. Debate / dig-Tadrg

Correct Answer :-

« Buzz session / UlTrIFf T (I7 )

10) Panini was the author of / 9TOIfar AT & d@s &
1. Ashtadhyayi / 3TET&ITT

2. Mahabhasya / #HSTHTST

3. Daskumara Charita / AAHAR IRd

4. Mrichhkatika / &b f EEBEF[

Correct Answer :-

o Ashtadhyayi / 3TSTEITAT



In projective techniques of personality assessment, behaviour is evaluated. / Saf¥dca

ITheleT Y YA aFAlRl H _ SAIER & Hediwe (AT AT B
1. criminal / 37O

2. conscious / A

3. overt / Ueh<

4. covert / 3T9dhc

Correct Answer :-

« covert / 3UbC

12) When was Sikkim created as a full-fledged state of Union of India? / Rf¥&a & sl
Y & qOT AT & &A1 e 3 ar=m an

1. 1985
2. 1975
3. 1970
4. 1980

Correct Answer :-

« 1975

13) At which point of discussion, does social science differ from pure science? / TdaT & f&Fd

Rig W, FTTE R Regy R & et g &

1. Degree of complexity / SIfCeldl &l AT

2. Repetition and duplication / EFR'I?-[% 3R %TI?{%

3. Validity and reliability / d9ar 3R AAag=aan

4, Exactness of measures for prediction / CE-‘EF?JFT & forw surgi/aATar &r qﬁf{[@?ﬂ

Correct Answer :-

« Exactness of measures for prediction / q\?j?FQFf & forw surgi/ATar fr uﬁ‘e!aal

14) Aryabhatta and Varahamihira belonged to which age? / 3Tdsiee 3R wEMART v qar
¥ wafea a2



1. Kusana / pUToT
2. Harsha / %‘iff

3. Gupta / [
4. Maurya / Atan

Correct Answer :-

 Gupta / I[Cd

15) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century?
/8% eraredy #F frE AR aEE A o Fie (Reh) & g aew A Tumger fr oA

1. Anangpal / 37T9TdTel

2. Lakhan Pal / eT@< UTel
3. Tejpal / oTdTel

4. Madan Pal / #Ac< UTel

Correct Answer :-

« Anangpal / 37T9T0Tel

16) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 & 1003 sadt
dF FRAR &7 afFaure #Afger amw FiT 2

1. Kauravaki / <pidehT
2. Prabhawati / U1
3. Didda / &=

4. Rudrama / 3¢l

Correct Answer :-

. Didda / =T

17) Who coined the term Action Research? / Tl R (haTcdA® eier) ersg &1 =T
foraar &

1. Stephen M. Corey / FEI%hel TH. DRI



2. Bruce Cooper / s{H QU

3. Talcott Parsons / ColehIce U4

4. Kets de Vries / éh?}? st et

Correct Answer :-

« Stephen M. Corey / TEIhed TH. PR

18) Who coined the word ecology (Okologie)? / ‘TIRFEAfAHY (3NFIaTel) eeg FT ATASHR Faa
frar?

1. Robert Whittaker / ¢ fSgeat
2. Ernst Haeckel / TeEE &bl
3. Charles Darwin / dTedl 3Tidel

4. Arthur Tansley / 3T2R &edar

Correct Answer :-

« Ernst Haeckel / TeEC gahol

19) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in
Gupta period? / I Tl # 3rsenr o (Rfdrcwr #r are aramat #1 arien) F d@w
e 82

1. Vagbhata / dTdHcC

2. Bhratahari / &k

3. Charaka / d{h

4. Susruta / g

Correct Answer :-

 Vagbhata / qTdHcC

20) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early
medieval times? / YRTEHEF HALYHTT H 'a@ T€U (VF3T goRT F7 gran) i 3 FF &
g A7

1. Balban / deldd



2. Razia / T T

3. Qutub-uddin Aibak / PIIEIT VP

4. Firoz Tughlaq / RS JdTelh

Correct Answer :-

« Qutub-uddin Aibak / g’ggé\ld U

21) Between whom was the Battle of Dharmat fought? / &Tfd T LAl foreray i g AT
1. Aurangzeb and Dara Shikoh / 3Tl 3R gRT APIE

2. Babur and Ibrahim Lodhi / 916X 3R Ssfed o

3. Akbar and Jahangir / 3TchelX 3R SRR

4. Akbar and Rajputs / 3dex 3R {Idhkd\i

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3IReTald 3R gRT APl

22) MOOCsS stands for: / TH.3T.3T.H &1 a9 &

1. Massive Open Online Courses / AT 3Nua Jdens PIES

2. Massive Open Orientation Courses / Hf&d 31d ITRTAAT PRAST
3. Massive Online Open Courses / AT 3iemsa g PIES

4. Mobile Open Online Courses / S A 3ﬁﬂ?~l’l’s’§f P
Correct Answer :-

« Massive Open Online Courses / HIAd 31U FTASA DIl

23) amendment added a list of Fundamental Duties to the Constitution. / AT

wfaur F #AifeF Fdeat A vw @@ Asar
1. 420 / 42a
2. 39" / 397

3. 47th / 47a7



4, 441 / a4q7

Correct Answer :-

o 424/ 40q7

24) Erosion by solution is termed as: / fae¥sT gaRT 3REaA FI Fgl AT §:
1. Evorsion / STelsTde

2. Cavitation / J[feehrae

3. Abrasion / 3qEyor

4. Corrosion / H&ROT

Correct Answer :-

« Abrasion / 3fgedur

25) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / THE ¥ § 87 § e 3mdof & faw @xféra frar oo 81 sma &
UgdT IAAT TYS HiT AT 8?2

1. Loktak Lake / ofiehdrer el
2. Chilka Lake / fRrehr sfrel

3. Vembanad Kol / dFddTS lel
4. Kolleru Lake / BT 3@

Correct Answer :-

« Kolleru Lake / ®Ia® i

26) The curriculum principle that allows necessary changes in its content and methods as per
the changing needs and situations is .| Q"1 IISTHA ﬁ'ﬁ}l’l’ﬁ' g, S Sgord!
Jraegwanat AR aRFFYfAA & IR vl Ryr-avg ik wqufadt & sraeas
aRads @ gl

1. Principle of integration / ThIAIOT & Fgrd
2. Principle of flexibility / oreiielusl &1 fAgia
3. Principle of motivation / 37TRUROT &I Agid



4. Forward looking principle / 3TIIGIRIdT &I &g

Correct Answer :-

« Principle of flexibility / edtelusl &I g

27) The teacher’s mental and emotional visualization of classroom activities is: / F&T

afaggufaal & e i AR 3R waaeAs Fewr B
1. Year plan / asfT Iretar
2. Lesson plan / UT& JTotell
3. Unit plan / E'F-h'lé B

4. Resource plan / HETYA JISTAT

Correct Answer :-

« Lessonplan / OIS ISt

28) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for  planning. / 9. .o, BT-FHFI' TG & EJ&TdT qrelt
afafa(198a) & m#mmmmmmmwu

1. District Level / oo T
2. Village Level / AT TAT
3. State Level / U T

4. Block Level / sollh T

Correct Answer :-

« District Level / ToielT T

29) Which Act drastically redrew the boundaries of states and territories in India, organizing

them along linguistic lines. / 78 QAT a8 siRa # U=t 3T & fr AT Y Frhy
gC dF & T AT IR 3= s @t F gy gafeya R

1. States Reorganization Act, 1956 / Id -ioA AT, 1956

2. States Reordering Act, 1959 / 1o G-:3fIhHUT SHfef4TH, 1959

3. States Reordering Act, 1963 / o9 G:3fIshHUT SHfETATH, 1963



4. States Redrawing Act, 1957 / o8 G@ AfIfATH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / I1sd J-Fie HfIfATH, 1956

30) Which among the following is not a criterion for writing Instructional Objective? /

ffef@a # & ¥ Adaens 358w e & v : Awes 78 82
1. Specification of the learner / IRGIEIRIRCIFIESI

2. The nature of the school environment / Ta@TerT & HTElel & Upfa

3. The learner performance / fremft a1 uedA

4. Adequacy of instructional objectives / fAéemeae seRat A gATEAr

Correct Answer :-

« The nature of the school environment / TI&TeT & ARl Hr gepfa

31) Which among the following models of teaching belongs to Social Interaction Family? /

fefaf@a #§ @ Reor &1 Fla @1 sfow= awfoF i@ B oRer & w@&fta 2
1. Inquiry Training Model / Y&dls FIRGMEIGEIC]

2. Non-directive Teaching Model / 3ifacfra frator ufdama

3. Advance Organizer Model / 33 3RS Ufdd

4. Partnership Learning Model / &SI 31991 UfaaT

Correct Answer :-

« Partnership Learning Model / |13 H{Q9rH gfddA=

32) Which battle was fought between Ahmad Shah Abdali and the Marathas in 17612 / 1761 &
3gAE AE HeaTel AR FS & N Fle-a1 ey gam av

1. Battle of Tarrain / dXT$el T g
2. Battle of Khanwa / @letdT &bl Jg
3. Battle of Buxur / IeFaY &l g

4. Third Battle of Panipat / OTeiTdd AT F[('-ﬁ'q g



Correct Answer :-

« Third Battle of Panipat / UlellUd &l JdIT &

33) Which Jaina Saint is credited with introducing Jainism in South India? / Ef&oT #RT 7
ST e Y YT F F AT 6w ST FT Y S 2

1. None of the above / 3Udwh H A PIS el
2. Sthulabhadra / TG

3. Indrabhuti / 3‘;\'9@
4. Bhadrabahu / EHE\T&I'I@

Correct Answer :-

o Bhadrabahu / 34?@"@

34) Where was the First Jain Council held by Sthulabahu? / TYelaTg SaRT YA ST aRwe

Fgl gars 75 o
1. Kasi / &praft
2. Vaishali / ey

3. Vallabhi / deol#l

4, Pataliputra / CI'IET*ﬁ'EET

Correct Answer :-

« Pataliputra / UTCellgT

35) How can a social science teacher infuse affective outcomes among students? / HTHTToTS

A7 RaTs oEl # TFRIcAs IROMAT F1 F@ Tfaa #F F&dar 82

1. Keeping the students intact through lecture method / TITEATA Ugfd & HICIH & STAT Bl
3tfaeher T@

2. Adopting collaborative learning inside and outside the class room / @& & 376y 3R TR
Grfeh TATH Bl HUATR

3. Through story telling method on freedom fighters of social eminence / TTHTISID ASAT dTel
TITTIAT TAAAT W HAT ara Ugid & AT



4, Through the teaching of wars and conflicts through ages / '{Fﬁ q ?g?f 3R Tauf & Reor &
HTH |

Correct Answer :-

« Adopting collaborative learning inside and outside the class room / @& & 376X 3R e
AT HTAIH Bl ITATHT

36) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of

India shall act in aid of the Supreme Court? / g & fad 31?]’@_%}7.'\' AFGTTAMEF ART &
TsgaT & weft wifteor, aeiie 3t =¥, gafew ~=arey i gerar & :1F FEr

1. 141
2. 134
3. 144

4. 114

Correct Answer :-

37) Which was the political party formed under the leadership of Kanshi Ram? / FARA & FTQH 7
Fler At TorElfaes ot wfea g8 o

1. Communist Party of India / #RT Elﬂ—'gﬁ?—? aref
2. Samajwadi Party / GHTSTATET UTEr
3. Rashtriya Janata Dal / T8I STl &l

4. Bahujan Samaj Party / Sgalel HATST qref

Correct Answer :-

+ Bahujan Samaj Party / dgofe HaATS aréf

38) NABARD stands for ./ ATETS FT qoF &9 el

1. National Bank for Agriculture and Rural Development / ITEIT ?51%[ 3R arefior e d@

2. National Bank for Agriculture Reconstruction Development / g1 iy ‘g?-lﬁl?ﬁ'UT faere
3. National Board of Agronomy and Rural Development / TI'E@QT goafaera 3R g e 9

4. National Board of Agriculture and Rural Development / IS ?ﬁﬁ wad T e 9



Correct Answer :-

» National Bank for Agriculture and Rural Development / TI'@?T %f@f 3R arefior e @

39) stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and mental
energy, making them alert to the social forces that threaten these values’. / A AT ST §
& aenfos R s qea), srata Faddn, e, e §Fae A Jey dEer der w9
3R oEl F TF Ageaqul, Afaw X AFRE FAT da1 TR A A Fvrar § A 37 5=
Aedl Ft @R # s arell AEoE AFGAl F AT a9F F@m §

1. National Curriculum Framework NCF (2005) / ITEIT Ureaadl &l FU@T TAHTE (2005)
2. Commission on School Education / ¥fel A& 31T
3. Education Commission 1964-66 / fI&T 31T 1964-66

4. The Curriculum for Ten Year School / €8 Il & TRl & foT UToTqhHA

Correct Answer :-

« National Curriculum Framework NCF (2005) / T€r q'l'ofqﬂ?il‘f HI FTIET TAHITE (2005)

40) is a type of unemployment wherein the workers are searching for new jobs and for a
temporary period they will be unemployed. / TF YHR 1 RS § owd sl
7% ARt fr garr FT W} T 3R v reurEh a™ F T § ISR @

1. Frictional unemployment / 3EIRY SRISTIT
2. Seasonal unemployment / TATHATIS SRISTIM
3. Structural unemployment / ARTATHD RIS

4. Disguised unemployment / U=dd RIS

Correct Answer :-

o Frictional unemployment / 3TEUTRIT SRISTIRY

41) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / T gfehar % ‘i%mﬁ a9
3 A fafdesr FY awqait & WA, ssror, aRage, d5fSer 3k fawor anfaer g &)

1. Agricultural marketing / W ot
2. Rural development / JITHTOT faemrd
3. Agricultural networking / Tﬁfw



4. Rural marketing / ATHT0T faqur

Correct Answer :-

« Agricultural marketing / ¥ fagore

42) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / TR
WHR & A Jared F gdawe geg s gagsr s

1. Raghuram Rajan / XYRTH Mol
2. Kaushik Basu / PIfAP ag

3. Krishnamurthy Subramanian / ST gIATTA
4. Arvind Subramanian / 3Xfd¢ gIATIA

Correct Answer :-

« Krishnamurthy Subramanian / EOTLfct GIATg T

43) Who is the present Governor of Reserve Bank of India? / R RSd d& & gdae @k Fia
&

1. Urjit Patel / 3Toid e
2. Duvvuri Subbarao / Geqdl GedRTd
3. Raghuram Rajan / TgXH Isled

4. Shaktikanta Das / QTfehepid e

Correct Answer :-

e Shaktikanta Das / QIfehehid &g

44) Who first adopted Micro teaching techniques? / & RI&TOT qasildl F FawYH fFaar rqemam
1. Dwight. W. Allen / ZdTSc 3oy, Teld

2. Dwight Waldo / 3dT8¢ dTes!

3. Michael Brown / #ATShel SIS

4. Stanley John / TS STict

Correct Answer :-

« Dwight. W. Allen/ T3¢ 3¢y, Told



45) Who is nicknamed as the ‘Milkman of India’? / 'Rd & 7Y oW FT 3TH fFa fer T @2
1. Swaminathan / TITHIATY

2. Sambasivan / GFATIAATA

3. Verghese Kurien / gaftsr ?fﬁ'q?f

4, Hiralal Chaudhari / aTIFﬂ?{ ey

Correct Answer :-

« Verghese Kurien / T3fi] Q‘?ﬁ'q?f

46) The concept of five year plans in India was adopted from which country? / HRd # gaadfy
ASAATHT T ITUROT FH A F 39S 7§ AP

1. China /

2. England / §30l3

3. Soviet Union / @fdad @9
4. USA / € T AR
Correct Answer :-

« Soviet Union / Gfaad 9

47) AMUL stands for ./ IS (TTAGTS) FT qOF T gl

1. Anand Milk Undertaking Limited / 37Tl e 3etcfhar fafdes

2. Ahmedabad Milk Union Limited / 3T&HcIdTG fHed Jfada fafdes
3. Ahmedabad Milk Undertaking Limited / 3T&derare [Fed 3e3ciher forfdes
4. Anand Milk Union Limited / 3{H¢ ffiesh ?J;ﬁ'qT-[ fafics

Correct Answer :-

« Anand Milk Union Limited / 3G Heh Qﬁ'q:[ fofirce

48) is an apex Indian governmental body created in 1964 to address governmental
corruption. / TP Yaid RO IRPR] AP 8 S TRPRT YPRER &1 udl @ & forg
1964 ® 14T T[T

1. Commission Against Corruption / HEHR & &emd 3mAter



2. Central Bureau of Investigation / hgId 3=dwoT 2Ry
3. Anti-Corruption Bureau / H¥HR fareh @Hl
4, Central Vigilance Commission / eI Fdhdr AT

Correct Answer :-

« Central Vigilance Commission / eI Tdchdl JTAET

49) is the highest court for criminal cases in a district. / T& ford # SuRIftIS
ATHEl $ fore 9ed = ATy gl

1. Court of the Sessions Judge / §F SITATAIRT hT ITATTT

2. Court of the District Judge / TSI “IRTNLT T =ATATT

3. Courts of Magistrates of First Class / UJH Hofy & Hﬁl@? Pl Tl

4. Courts of Magistrates of Second Class / fgcig #oft & #AfGEce &1 =arare

Correct Answer :-

« Court of the Sessions Judge / §F ITATAIRT BT AT

50) Which of the following intrinsically motivates a learner to learn? / fafafeadd ==
AR F fore uws Rreneif &) agw wu A Ufva wwar g2

1. Lots of homework / 3ca ?JE?FI'éf
2. Rewards / MTcdTgel

3. Easy questions / O{eT HdTel

4. Interest in the topic / fJaug & TR

Correct Answer :-

« Interest in the topic / TawT & T

51) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

Nations (UN)? / Hga 1Y (J) &RT fFads s ot simigia sifgen feawr & wu & wamar wmar
82

1. Martin Luther King / FTfe TR fao

2. Mahatma Gandhi / HgTET Tieht



3. Jawaharlal Nehru / STATER &1 A8&
4. Nelson Mandela / 7&89 Hadl

Correct Answer :-

« Mahatma Gandhi / AGTHT TTieh

52) The approach of organizing curriculum which is more content centered is known as: /

UTSUsHH Y HIRRIT B BT TRHIV], S ARIpiwra: favg-avg a3, 37 T AT 8
1. Concentric approach / Hehigd TIEHIOT

2. Topical approach / HTHATAS TTRRIOT

3. Unit approach / SIS TIBdIOT

4. Spiral approach / TfUe Ti¥eIOT

Correct Answer :-

o Unit approach / 375@ HECT

53) Annie Besant was a member of . / TR ade @t T il
1. Ghadar Party / TaX arf

2. Prarthana Samaj /EIT%hT HHST

3. Arya Samaj / 3T TS
4. Theosophical Society / fRAIfhed ATl

Correct Answer :-

« Theosophical Society / A aifhera TS

54) Who plays the main role of Guidance Services in School? / faETery # Arfexia Jarsi #t
731 YftreT B fuTar 872

1. Parent/ ATAT-T0AT
2. Social Studies Teacher / TATTSTh 3TETTA [A&Th

3. Principal / Uy

4. Counselor / CITD?Q%CTIFIT

Correct Answer :-



o Counselor / EITI?T‘\’iaIHI

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “d@a afaw (AR Hifdw)” Ao Mamed F g arelt gaa = fe=r
I AF § o) Pl F @ R gar & aA @ el S §2

1. Westerlies / UG3T Uded
2. Trade Wind / IO o< (¢8 fds)
3. Easterlies / qdfg gad

4. Monsoon Wind / HATAHA Udel

Correct Answer :-
» Westerlies / U3 Udel

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / ¥ 41AW FEADIE Yhew H farafaf@a & & fFw amyfas wsg #1 dvumas
HIAT JTT 82

1. New Zealand / rqﬁlé’g
2. Cyprus / |1s9H

3. Vatican City / df¢ahea A&
4, Singapore / @TITQT

Correct Answer :-

« Singapore / ﬁl’TITgT

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

AT AT B, ST JW@T & Faar 50 N 3R s F i Rsfa a8t @ § wifw?

1. Ocean surface temperature is high / g P TdE Pl dUAA HAUS TdT &

2. Trade winds converge / TITUTR® Ud T 3R &l &l
3. Pressure gradient is weak / &I U0l hASR Bl &
4. Coriolis force is very weak / BIR3Tord gHa agd HASIR BT &l

Correct Answer :-

« Coriolis force is very weak / IO T agd HASR BT &



58) Which of the following rivers does not flow into the Arabian Sea? / RFaAfaf@d & & #ia
H 7N 3T PR FH 74T Tt 82

1. Tungabhadra / Q?'Tﬁ-'l';‘\T
2. Narmada / sT3TaT

3. Mandovi / #TOSAT

4. Sabarmati / Gre#HAAT

Correct Answer :-

« Tungabhadra / §?T3-'I'9'\T

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / ®Iadl 2011 & AHFH e
AT FeaRIGH fiterd, it FTaw Naravor (T-RAgede) gler 31 a7 fafaf@a oda #
¥ e wF e @2

1. Cochin Port / I EIEUII%

2. Visakhapatnam Port / faRMENICAH FEI9TTE

3. None ofabove/FlT*’i?F # 4 P G

4. Chennai Port/t\lc-o-lé qu{dll‘é

Correct Answer :-
« Cochin Port / P EIEUII%

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be most
easy? / gaT-gerg (&1 Ra1) & deof & FARAWor & MuR W garFraTHiAd i w1 dfaw
ali#r 31 fefaf@a & & fFw &7 & ve ga7 A, Todl F1 Reevor Fear q9@ e
g1em?

1. Temperate Zones / NATSUT Hfedy (SFUE i)
2. Taiga / CaT
3. Tropical Rain Forests / SS0TehfeadT aul ad

4, Polar Tundra / ‘%?-ﬁ'q 'S'E,T



Correct Answer :-

« Temperate Zones / ASOT HETY (CFRE )



